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£ Al(Yere|A+SE3]A) 12,803,873 100.0%
g A 12,663,477 98.9%
e 1,360,048 10.6%
At 1,272,222 9.9%
b A= 2= F 20,326 0.2%
0|2ty 2,000 0.0%
AAZ 65,500 0.5%
0|z Aol Eg| 11,303,429 88.3%
03 11,303,429 88.3%
sus) & Al 140,396 1.1%
olza¢ £03 140,396 1.1%
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£ A(Lers|A+SE3|A) 12,803,873 100.0%
e A 12,663,477 98.9%
2 A 1,671,901 13.1%
=7 |28 159,066 1.2%
OF2| ZA|U|AllE 614,384 4.8%
HETE0[=2 164,250 1.3%
EecIN ] HNEA0IS| 2 177,735 1.4%
22 203 271,605 2.1%
oA HE 86,979 0.7%
HEO|| S 2 2E 101,708 0.8%
B4R 46,174 0.4%
YA HESlSRAIE 50,000 0.4%
2 A 1,403,332 11.0%
ST |EE 33,046 0.3%
MEHE MR 439,989 3.4%
Of2| Y= Mt 331,096 2.6%
SUSAE A2 54,561 0.4%
SHRE LA 30,967 0.2%
HEZ M 30,228 0.2%
Y M 42,271 0.3%
S celnR e M2 88,921 0.7%
25 AMatE0[2| LAt 33,726 0.3%
MNEBZBOIR A2 24,244 0.2%
H2EE M 42,483 0.3%
Of2| &0 Zl0] = Aj 2t 84,909 0.7%
TH12E2= M) 31,565 0.2%
PN 1,603 0.0%
HYAHZ 2 12,857 0.1%
HEYAEHZ I 21,330 0.2%
MR A HHAE 99,536 0.8%
A A 9,588,244 74.9%
2431 Aluf|op e 28,700 0.2%
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SHYZ|HE 9,513,548 74.3%
w3 g A 140,396 1.1%
Al opRE =AY 140,396 1.1%




